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A: May | visit the Big Ben or the London Eye with this tourist pass?
B: Yes/No

REASERCH QUESTIONS RESULTS: CENTERED REACTION TIMES
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upr =~ 4.3sec;
OpT = 3Sec

Negation effect:
(B = 0.3sec, p <.001)
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Zero model effect:
(B = 1.4sec, p <.001)

Delay effect:
Insignificant (@ = .01)

Mean centered reaction time
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icipants; 2 X 2 X 3; 48 test | 24 fillers;
60 participants; 2 X 2 X 3; 48 test items + illers; POSSIBLE THEORIES OF FCQs
Response particles: 4—J l L» Allowed items:

Yes, No. . both, one, neither
Scenarios

Bill is in London at a tourist office. He wants to know more about the tourist pass they offer. He asks the employee of the office:

BiLL: Am | allowed to go to Big Ben or the London Eye with this pass?

EmeLovee: Yes

London Eye

Was the employee's answer accurate given the picture?

Accurate Inaccurate

RESULTS: ACCEPTANCE RATE

PREDICTIONS VS. DATA
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Find the
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paper here:
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